Уровень 1.
46000 : 25=         9500 : 25
7900 : 25=           3800 : 25
4100 : 25=           6800 : 25

Уровень 2.
( 2367 + 3033) : 25=                ( 1692 + 3908) : 25= 
( 2347 + 6153) : 25=                ( 3892 +5708) : 25=
(3968 + 5532) : 25=                 ( 1458 + 3742) : 25=

Уровень 3.
Сравни выражения:
1. 7426 : 47 …. 8268 : 52=                    
    10584 : 84 …. 7182 : 57=  
    11502 : 54 …. 13419 : 63=        
    
Найди значение выражения:
[bookmark: _GoBack]2. 38243 – 5769 +412* 46 - 18144 : 56 : 36=
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